
Calculation of fees due in respect of the activity of supplier of electronic communications 

networks and services, in respect of 2013, under the terms of point b) of paragraph 1 of 

article 105 of Law no. 5/2004 of 10 February 

1. Under the terms of paragraphs 1 and 2 of Annex II to Administrative Rule no. 1473-B/2008 

of 17 December, as amended by Administrative Rule no. 296-A/2013 of 2 October, the value 

of the t2 contributory pension is announced, as resulting from the application of the 

respective formula, obtained as follows: 

 

Formula: t2 = (C-t1n1)/ ∑R2;  

 

C= Total cost of regulating the activity of supplier of electronic communications networks and 

services in 2013 = 24,478,856 euros; 

∑R0 = Total relevant revenues of undertakings in band 0 in 2012 = 710,369 euros; 

t1 = Fee payable by undertakings in band 1 (Relevant Income < = 1,500,000 euros) = 2,500 

euros;  

n1 = Number of undertakings in band 1 = 28; 

∑R = relevant revenues from all providers of electronic communications networks and services 

in 2012 = 5,018,269,622 euros; 

∑R1 = Total relevant revenues of undertakings in band 1 in 2012 = 15,801,325 euros; 

∑R2 = Total relevant revenues of undertakings in band 2 in 2012 = 5,001,757,928 euros; 

t1n1 = 2,500 euros x  28 = 70,000 euros;  

t2 = Fee payable by undertakings in band 2 (Relevant revenues >1,500,000euros) =  (24,478,856 

euros - 70,000 euros) / 5,001,757,928 euros = 0.4880%; 

 

The fees payable are obtained by applying the rate of 0.4880% to the relevant revenues 

reported by each provider in band 2. 

 



2. Relevant revenues reported by certain suppliers of electronic communication networks and 

services were subject to revision following an audit conducted upon Decision of ICP-

ANACOM's Management Board. 


